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During RAN 2 – 113 Bis related to NB-IoT carrier selection based on the coverage level no agreements were made even after couple of email discussions. During RAN 113, following agreements were made: 

RAN2#113-e agreements:
· Select between one of the options:
· Option 1: UE selects a paging carrier based on a rule configured by the network
· Option 2: NW configures a specific paging carrier
 

               -Working assumption: For both options, when coverage changes, mechanism that requires UE to report      the update of coverage is not introduced.

Discussion
In this short contribution we would like to re-iterate on the fact that how can we make progress on this work item to make sure we don’t end up making this solution complicated and instead focus on what is solved? 

We believe most of the information is cell specific hence we should may be start with discussion on stationary use cases for now. Also one plus point for discussion on stationary use cases would be that cell specific information can be applied to these devices which are not considering cell change. 
Keeping this in mind we can discuss on selection either option 1 or 2, and other points like how to select a carrier and the fall back cases etc. etc. 
Another important aspect for this work item should be to select a solution that can avoid multiple paging on multiple carriers. During all these discussions we should not forget the majority NB-IoT use cases and the battery life expectancy that might be affected with increase transmit power or decoding increased number of NPDCCH repetitions.

Proposal: To avoid complexity or a complicated solution, we should start with Stationary use cases not considering a cell change.  
Conclusion
Proposal: To avoid complexity or a complicated solution, we should start with Stationary use cases not considering a cell change.  
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